
Homework 13 Math-1700-es31 2013 February 11

9.3.3 The obvious function to try for the Integral Test is

f(x) =
1

x2 + 4
.

This function is always de�ned (it would be enough if it were eventually de�ned), so the test might apply.
The function only takes positive values (it would be enough if it eventually took only non-negative values),
so the test still might apply. This function is eventually decreasing (it would be enough if it were eventual-
ly non-increasing), because

f ′(x) = − 2x

(x2 + 4)2

is negative for x > 0, so now the test really does apply.
The integral
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converges, so the series
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also converges.
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